
𝐿1
∗ 𝐿2

∗ 𝐿3
∗ ෠𝐿1 ෠𝐿2 ෠𝐿3

𝐿1
∗ = ෠𝐿1

𝑀∗

෡𝑀෡𝑀∗

𝑴∗

• 𝑋1 = 𝑓1 𝑈1
• 𝑋2 = 𝑓2 𝑈2
• 𝑋3 = 𝑓3 𝑋1, 𝑋2, 𝑈3
• 𝑃(𝑈) 𝑈3 ⫫ 𝑈1 𝑈3 ⫫ 𝑈2

𝐐
𝑄 𝑀∗ = 𝑃(𝑋3|𝑑𝑜 𝑋1 , 𝑈)

෡𝑴
• 𝑋1 = ෡𝑓1 𝑈1
• 𝑋2 = ෡𝑓2 𝑈2
• 𝑋3 = ෡𝑓3 𝑋1, 𝑋2, 𝑈3
• 𝑃(෡𝑈) ∀𝑖, 𝑗, ෢𝑈𝑖 ⫫ ෢𝑈𝑗

𝑓𝑖 ∀𝑖

෡𝑸
෠𝑄 = Ƹ𝑃(𝑋3|𝑑𝑜 𝑋1 , ො𝑈)

𝑋1 𝑋2

𝑋3

𝑓𝑋1

𝑈𝑋1 𝑈𝑋2

𝑈𝑋3

𝑓𝑋3

𝑓𝑋2

𝑈𝑋1−2
𝑋1 𝑋2

𝑋3

➢

➢

➢

➢

➢ G 𝐿3
➢𝐿3 𝐿3

➢

➢ 𝐿3 𝑓𝑖

𝑋 𝑌 𝑋𝑌

𝑍

𝑋 𝑌𝐼

➢𝑓𝑖 𝑈𝑖 𝑈𝑖 = 𝑓𝑖
−1(𝑋𝑖 , 𝑃𝐴 𝑋𝑖 )

➢

➢𝑓𝑖 𝑔𝑖 𝑃𝐴 𝑋𝑖 , 𝑈𝑖 = 𝑓𝑖
𝑒𝑖 𝑋𝑖 , 𝑃𝐴 𝑋𝑖 = 𝑈𝑖

➢

➢𝑓𝑖
𝑈𝑖

➢

•
•

• 𝑳𝟑

• 𝐿3

•

•

•

•

•

•

•

•

•

•

•

•

•

•
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